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1. REFEHOR
(L EEINE
SN 25,000,000 25,000,000 0
o Loy 18,600,000 18,600,000 0
SHR RS 4,000,000 4,000,000 0
TREHE 2,400,000 2,400,000 0
FEEIREFEEZFONE 1,100,000 1,140,000 A 40,000
FEEITRBFESTIONG 1,100,000 1,140,000 A 40,000
IRER N EEZTIONG 0 0 0
Bl EEZ TGS 0 0 0
ZH=E 258,000 300,000 A 42,000
ERBEIEE 248,000 290,000 A 42,000
B BTIRE 10,000 10,000 0
=M &S 10,650,000 10,650,000 0
THGES 2T & 5,325,000 5,325,000 0
=R ST B 5,325,000 5,325,000 0
ZHE & 0 0 0
STWHEME 0 0 0
M2 1,000 5,000 A 4,000
ZHFLE 1,000 1,000 0
HR 0 4,000 A 4,000
RE et 37,009,000 37,095,000 A 86,000
(2)BEERA
EXR 38,098,000 38,066,000 32,000
XINBL S & 18,600,000 18,600,000 0
IR AR 4,000,000 4,000,000 0
HEFY 4,698,000 4,700,000 A 2,000
FRFEES 1,356,000 1,341,000 15,000
EERFIE 986,000 971,000 15,000
3= RIS o e 281,000 281,000 0
BFEAE R 87,000 88,000 A 1,000
SEE 30,000 30,000 0




# THE AMEEE FEAE B AR
FREZRE 79,000 73,000 6,000
BIEENRE 324,000 324,000 0
b ERE 0 0 0
T 100,000 50,000 50,000
iHFELE 267,000 307,000 A 40,000
R 530,000 413,000 117,000
ENRSdA % 159,000 159,000 0
JEBKCOR 249,000 258,000 A 9,000
Bt 716,000 1,665,000 A 949,000
PrEgEE 733,000 746,000 A 13,000
e 2,844,000 3,030,000 A 186,000
BN 144,000 143,000 1,000
XEHEE 6,000 6,000 0
EitE 1,507,000 557,000 950,000
WHEE 30,000 30,000 0
Gl 60,000 60,000 0
X FEE 131,000 56,000 75,000
WwEE 126,000 126,000 0
b 55,000 52,000 3,000

gty 1,745,000 1,785,000 A 40,000
=k , 0 0 0
PR 657,000 655,000 2,000
[EREES 0 0 0
RERIE 107,000 105,000 2,000
Rk BER S & 31,000 31,000 0
BHEEE 8,000 7,000 1,000
SEHE 28,000 25,000 3,000
#ZAERE B 156,000 230,000 A 74,000
BB E 5,000 5,000 0
BEERE 18,000 18,000 0
e g 0 0 0
THFEL 30,000 30,000 0
EIRIS AR 0 0 0
JEEAKEE 32,000 28,000 4,000
(it 49,000 154,000 A 105,000
PRI 14,000 13,000 1,000
B i 20,000 0

20,000




# = FEHE RTEE T HEH AR
FABLATE 152,000 152,000 0
XHAESE 160,000 160,000 0
ZitE 263,000 157,000 106,000
XHFECR 10,000 10,000 0
M 5,000 5,000 0
REBE R 39,843,000 39,851,000 A 8,000
X HR A PR A 2,834,0000 A 2,756,000 A 78,000
2. BE S EROE
(L) #BHE ML
Py ey 0 0 0
(2)BHEIHNEM
REN & AR 0 0 0
LR E SMEREER 0 0 0
2 HA— AR ELRRA EE S IBAR A 2,834,000 A 2,756,000 A 78,000
—ARERMEHA RS 7,298,873 6,346,192 952,681
—IRIEWMESRES 4,464,873 3,590,192 874,681
10 45 7E 1B BR B EEHE I8 D
(1) 5%
eSS 0 0 0
(2)&H
#HE 0 0 0
U HAFE 1E TF R R RE S AR 0 0 0
BEERMEN IR 0 0 0
8 E EHRMEEHI IR 0 0 0
I IE M EE SRR = 4,464,873 3,590,192 874,681




